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V ndarrayXSiizE

2.1 NDARRAYX 4 W& Jt:

In[1]:

Out[1]:

In[2]:

Out[2]:

» ndarrayXJSHIEMHE

import numpy as np
arrl = np.array([1, 2

» 3])

arr2 = np.array([[1, 2, 3], [4, 5, 6]])

print(arrl.ndim, arr2.ndim) #ndim{CREVEHYE

i

12

print(arrl.shape)
print(arr2.shape)

#shapelR[O]& ZF

EX R

(3,)
(2, 3)

d




V ndarrayXSiizE » ndarrayXJSHIEMHE

2.1 NDARRAYX} S i 8 it
axis (4 ) RIERE : IMARAEE—4

axis 1 RIEAEXRENE | —HEIERERA

0 1 2
- I
- - I
. I

oy

: BOMEETHERRET , B1MA

BRI KT,

T80 , aJLAIBRR T - 1Zaxis=i M

ina s MrEARNERHEITIRE,

d



V ndarrayXSiizE » ndarrayXJSHIEMHE

2.1 NDARRAYX 4 W& Jt:

In[3]: print(arrl.size)
print(arr2.itemsize) #FHdtypeXIpy , XEB2int64

3
Out[3]: 8

=

In[4]: print(arrl.flags) #flagsiREIZNEHAFEERIE

Out[4]: C_CONTIGUOUS : True #CXIEHIABIRTERIE

it : HKfllshape, ndimEFEHEXELG ZEE—MAEZInp.ndim(arr) , (BERAER

d



V ndarrayXSiizE » ndarrayXJSHIEMHE

2.1 NDARRAYX 4 W& Jt:

In[5]: print(arx2.strides)
arr2
Out[5]: (24, 8)
array([[1, 2, 3],
[4, 5, 6]])

strides|BIHicR 7 NIABIGEER T—HEMEE "I58" NFPE.

arr2[0,0]1Flarr2[1,01FEE24=F7 , Flarr2[0,11FEE8F 1,

d




V ndarray3SHEE > FREE

2.2 IBREEM

In[6]: arr3 = arr2.reshape(3, 2) #Z%4/3-1 , JEIEE
arr3

array([[1, 2],
Out[6]: [3, 4],

[5, 6]1])

In[7]: print(arr2.shape) #reshape

Out[7]: (2, 3)




V ndarrayXyRHIzE > RS E

2.2 IBREEM

reshapeHEEIFMAPRERER , BMFRIFTEIENS
1. FREHIREIENIINE—E , BNSEEE.
2. FEFYANRAEEER—RAE.

d



V ndarray3SHEE > FREE

2.2 IBREEM

In[8]: | arr2.reshape(4, 2)

Out[8]: YValueError: cannot reshape array of size 6 into

shape (4,2)
e | SO0

array([[-1, 2],
Out[9]: [3, 4],

[ 5, 6]])

d



V ndarray3SHEE > FREE

2.2 BREEH

In[10]: arr2.resize(3, 2) HER I (Zp
arr2

Out[1o]: arraY([[']- y Z] 3

[3, 4],
[5, 6]])
In[11]: arr4d = np.arange(l, 1)
arrd.resize(2, 4) # BEAERLBEHIER , SREDEH
arr4
Out[11]: array([[1, 2, 3, 4],

[5, 6, 0, 0]])

d



V ndarray3SHEE > FREE

2.2 BPREEM
In[12]: | arr4.swapaxes(0,1) # i3Iz

array([[1, 3],
out[12]: [2, 6],
[3, 0],

[4, 0]])

In[13]: | arr5 = np.arange(l, 9).reshape(2,2,2)
arr5.swapaxes(2,0) #H{IAHEZER—FXI% , FEMHTEWL

array([[[1, 3],

Out[13]: [[[?;’, 76]]],,

[4, 8]1]) Q



V ndarray3SHEE > FREE

2.2 IBIREEM

a = np.arange(6).reshape(2,3)
In[14]: b = a.T #b = np.transpose(a)
b

array([[0, 3],
[1, 4],
[2, 5]])

d

Outl[14]:



V ndarray3SHEE > FREE

2.2 IBIREEM

a = np.arange(24).reshape(2,3,4)

In[15]: b = np.rollaxis(a,2) # FRINFEHO012p4k%201
np.where(b == 23) #b.shape

Out[15]: (array([3]), array([1]), array([2]))
4, 2, 3)

d



V ndarray3SHEE > FREE

2.2 IBPRRE5EM

a = np.arange(8).reshape(2,2,2)

b = np.rollaxis(a,2) # FRINFEHO12pk%201

In[16]: print(a)

print(b)

print(a.strides, b.strides) #aflbBIRF==I0NIA—FE

out[16]:  L[[01] [[[0 2]
[2 3]] [4 6]]
[[4 5] [[1 3]
[6 7111 [5 7111

(32,16,8) (8, 32, 16)

d



V ndarray3SHEE > FREE

2.2 IBREEH
In[17]: | arrd.flatten() #HFEH—HEEA

Out[17]: array([l, 2, 3, 4,5, 6, 0, 0])

In[18]: arr4.tolist() #3EHA H[RETIFER

Out[18]: [I1, 2, 3, 4], [5, 6,0, 0]]

d



V ndarrayXyRHIzE > HEFEESE

23 MFBREG)

import numpy as np

In[1]: arrl = np.arange(l, 10).reshape(3, 3)
arr2 = np.array([10, 10, 10])

arrl + arr2

array([[11, 12, 13],
Out[1]: [14, 15, 16],
[17, 18, 19])])

i XENEANSEE BYFE | AR ERTTREH. i




V ndarray S E

> HFEHS &

23 MFBREG)

In[2]:

Out[2]:

arr3 = np.arange(10).reshape(2, 5)
arr4 = np.arange(16).reshape(4, 4)
arr3 + arr4

ValueError: operands could not be broadcast

together with shapes (2,5) (4,4)




V ndarrayXyRHIzE > HEFEESE

23 MFBREG)

In[3]: arrl * 10

array([[10, 20, 30],
Out[3]: [40, 50, 60],
[70, 80, 90]])

d



V ndarrayXyRHIzE > HEFEESE

23 YFBEHE)1E
77 3FERFZIM . npFERIRIB T KEREFHEEL , Warrl +

arrZE_[DJEﬁEnp.add(arrl, arr2),

_

JI[17 power Hizg
subtract ERFA fmax BEXE
multiply )% fmin S/ME

divide BRi& greater, greater_equal KT , KTFFF
less, less_equal INF, INFETF equal,not_equal FBE , A=
logical_and ZIES logical_or BIRER
logical_xor Caki= k=1

ﬂ



V ndarray3SHEE > HFzB 5 E

23 MFBREG)

np.add(arrl, arr2)
np.subtract(arrl, arr2)
np.multiply(arrl, arr2)
np.divide(arrl, arr2)
np.power(arrl, arr2)
np.fmax(arrl, arr2)
np.fmin(arrl, arr2)
np.logical_and(arrl, arr2)
np.logical_or(arrl, arrx2)
np.logical_xor(arrl, arr2)

d

In[4]:




V ndarrayXyRHIzE > HEFEESE

23 MFBREG)

rems | b rams | ow

abs, fabs w3 HE sqrt , square , exp tRS/¥ 75/ eHUEES
log , log10 , log2 XS sign, ceil , floor FFS /A _EEE/ A REEE
around/rint UEAN/HERAZIEEE modf R /IINEFNEE LI
sin, cos, tan =R sinh, cosh, tanh XX = FRREY
logical_not IZEAF isnan WS E| = e St

In[5]: np.isnan(arrl) #ERNEHEEEFMESEIEEEURE

d




V ndarrayXSHIEE

> TIEI. HESSEF

2.4 Pl HEERSERI

In[6]:

Out[6]:

In[7]:

Out[7]:

d

x = np.array([11, 12, 13, 14, 15, 16, 17, 18])
x1, x2, x3 = np.split(x, [3, 5]) # IFIFRMIRFDE
print(x1l, x2, x3)

[11 12 13] [14 15] [16 17 18]

np.vsplit(arrl, [2]) #np.hsplit(arrl, [2])

[array([[1, 2, 3],
[4, 5, 6]]), array([[Z, 8, 9]])]




V ndarrayXSRHIzE > tIE. HESEME

2.4 Pl HEERSERI

arr5 = np.arange(l,25).reshape(2,3,4)

ML upper, lower = np.split(ars5 , [11, axis = 0) #axis = 1
array([[[ 1, 2, 3, 4],
[5! 6! 7! 8]!
Out[8]: [9,10, 11, 12]]])

array([[[13, 14, 15, 16],
[17, 18, 19, 20],
[21, 22, 23, 24]]])

d



V ndarrayXSRHIzE > tIE. HESEME

2.4 Pl HEERSERI

In[9]: np.concatenate((upper, lower), axis=0) # %

array([[[ 1, 2, 3, 4],
[5! 6! 7! 8]!
Out[9]: [9,10, 11, 12]],

[[13, 14, 15, 16],

[1Z, 18, 19, 20],
[21, 22, 23, 24]]])

d



V ndarrayXSRHIzE > tIE. HESEME

2.4 Pl HEERSERI

In[10]: np.vstack([upper,lower]) #EEH K RIS

array([[[ 1, 2, 3, 4],
[5! 6! 7! 8]!
Out[10]: [9,10, 11, 12]],

[[13, 14, 15, 16],

[1Z, 18, 19, 20],
[21, 22, 23, 24]]])

d



V ndarrayXSRHIzE > tIE. HESEME

2.4 Pl HEERSERI

In[11]: np.hstack([upper, lower]) #KEFRIES

array([[[ 1, 2, 3, 4],
[55 6! 1, 8]!
[9,10, 11, 12],
[13, 14, 15, 16],
[1Z, 18, 19, 20],
[21, 22, 23, 24]]])

d

Out[11]:



V ndarrayXSRHIzE > tIE. HESEME

2.4 Pl HEERSERI

In[12]: arr5 = np.arange(8)
np.delete(arr5, 2)

Out[12]: array([O0, 1, 3, 4, 5, 6, 1])

. arr6 = np.arange(9).reshape(3, 3)
In[13]: np.delete(arr6, [1], axis=0)

Out[13]: array([[O0, 1, 2],
[6, 7, 8]])




V ndarrayXSRHIzE > tIE. HESEME

2.4 Pl HEERSERI

Inl1g] np.insert(arr5, 0, -1)
Outlial:  gyrvay([-1, 0, 1, 2, 3, 4, 5, 6, 1])
In[15]: np.insert(arx6, 1 , [0,0,0] ,axis = 0)
array([[0, 1, 2],
Out[15]: [0, 0, 0],
[3, 4, 3],
[6, 1, 8]])

d



V ndarrayXSiizE > HERm

2.5 P
In[1]: import numpy as np
myArray = np.array([11, 18, 13, 12, 19, 15, 14, 11, 16])
myArray

Out[1]: array([1l, 18,13, 12,19, 15, 14, 17, 16])

In[2]: | np.sort(myArray)
Out[2]: array([ll, 12,13, 14, 15,16, 17,18, 19])

In[3]: np.argsort(myArray) #HEFGRIZES]
Out[3]: array([O0, 3,2,6,5,8, 7,1, 4], dtype=int64)

d




V ndarrayXSiizE > HERm

MvyArray2 = np.array([[21, 22, 23, 24, 25],
In[4]: [35, 34, 33, 32, 31],
[1,2, 3,100, 4]])
np.soxt(MyArray2, axis=0) #np.sort(MyArray, axis=1)

array([[ 1, 2, 3, 24, 4], array([[ 21, 22, 23, 24, 25],
Out[4]: [ 21, 22, 23, 32, 25], [31, 32, 33, 34, 35],
[ 35, 34, 33,100, 311D [1, 2, 3, 4,100]])

d



V ndarrayXyRHIzE > #4H ERUIAMA

2.6 A EHIER

In[5]: a = np.arange(6).reshape(2, 3)
for x in np.nditer(a):

print(x)

print(type(x)) # xtBEndarray

Out[5]: O
<class 'numpy.ndarray’>

NumPy 8 &—/MENEW R numpy.nditer , BJ{EH Python BJt5HE
IteratoriZI3Ki510),

d




V ndarrayXyRHIzE > #4H ERUIAMA

2.6 A EHIER

a = np.arange(6).reshape(2, 3)
In[6]: b=a.T
for x in np.nditex(b):

print(x)

print(type(x))

Out[6]: O
<class 'numpy.ndarray’>

ELERNEHAAT LRI , EERHFRMEACIRAERNTHE.

d



V ndarrayXyRHIzE > #4H ERUIAMA

2.6 A EHIER

In[7]: | ¢ = a.copy(order='F") #fortranXZ
for x in np.nditex(c):

print(x) #ipHFIBIEI AR

0
<class 'numpy.ndarray’>
3

Out[7]:

T

R,

d

IBfiFstridesFENIEHFENumpyRAFE




V ndarrayXyRHIzE > #4H ERUIAMA

2.6 A EHIER

x = np.arange(l, 7).reshape(2, 3)
for a in np.nditer(x, op_flags=['readwrite']):
al...] = a*2 # XHBEHT

X

In[8]:

Out[8]: array([[2, 4, 6], [8, 10, 12]])

d



V ndarrayXyRHIzE > #4H ERUIAMA

2.6 A EHIER

a = np.arange(l2).reshape(3, 4)

b = np.arange(4)

for x, y in np.nditex([a, b]): # XU FEAHE
print("%d:%d" % (x, y))

In[9]:

0:0
1:1
2:2
3:3
4:0
5:1
6:2
1:3

Out[9]:



V ndarray S E

2.7 FZFF

B Ak 2

In[1]:

import numpy as np

a = np.char.add(['hello'], [' seu'])
b = np.char.add(['hello’, 'hi'], [' seu’', ' baby’])
a #b

Out[1]:

YJdtype/dnumpy.string_Zknumpy.unicode HRIZVAMITREFITHRIRE |

array(['hello seu'], dtype='<U9’)

array(['hello seu', 'hi baby'], dtype='<U10")

{£ numpy.charZ$EN.,

d




V ndarrayXSHIEE

2.7 FAFERALEE

In[2]: a = np.char.multiply('Hello', 3)

b = np.char.center('hello’, 20, fillchar="+")
¢ = np.char.capitalize('hello world')

d = np.char.title('hello how are you?')

e = np.char.lower(['HELLO', "WORLD'])

f = np.char.upper(['hello’, 'world'])

d



V ndarrayXSRHIzE

2.7 ST ER AL BE

a = np.char.split('TutorialsPoint,Hyderabad,Telangana', sep=',")
b = np.char.splitlines('hello\rhow are you?') # \n\r 292175
In[3]: ¢ = np.char.strip(['arora', 'admin’, 'java'], 'a'")

d = np.char.join(':', 'dmy’)

e = np.char.join([":', '-'], ['[dmy’, 'ymd'])

f = np.char.replace('He is a good boy’', 'is', 'was')

g = np.char.encode('¥', 'utf8')

h = np.char.decode(qg, 'utf8')

d



V ndarrayXSiizE > BEHRER
2.8 FEALBLIR

rand = np.random.RandomState(32)
In[4]: | x =rand.randint(0, 10, (3, 6))
X

array([[7, 5, 6, 8, 3, 1],
Out[4]: [9,3,5,9, 4, 1],
3,1, 2, 3,38, 2]])

rand = np.random.RandomState(32)
In[s5]: x = rand.rand(2, 3)
X

array([[0.85888927, 0.37271115, 0.555128178],
[0.95565655, 0.7366696 , 0.81620514]])

Out[5]:




V ndarrayXSiizE > BEHRER
2.8 FEALBLIR

rand = np.random.RandomState(32)
In[6]: x = rand.uniform(2, 3, (2, 3)) #1359
X

array([[2.85888921, 2.371271115, 2.55512818],

Out[6]: [2.95565655, 2.7366696 , 2.81620514]])

rand = np.random.RandomState(32)
In[7]: x = rand.randn(2, 3) #iFEIES S
X

array([[-0.34889445, 0.98370343, 0.58092283],
[ 0.07028444, 0.717753268, 0.58195815]])

d

Out[7]:



V ndarrayXSiizE > BEHRER
2.8 FEALBLIR

rand = np.random.RandomState(32)
In[8]: x = rand.normal(3, 1, (2, 3)) #HI5EIESHD
X

array([[2.65110555, 3.98370343, 3.58092283],

Outl8l: 13 07028444, 3.77753268, 3.58195875]])

rand = np.random.RandomState(32)
In[9]: x = rand.random((2, 3)) #135J0-193%
X

array([[0.85888927, 0.37271115, 0.555128178],
[0.95565655, 0.7366696 , 0.81620514]])

d

Out[9]:



V ndarrayXdSRHIEE > FITEREL

2.9 it R

a = np.array([[3,7,5],[8,4,3],[2,4,9]])
In[10]: print(np.amax(a))
print(np.amax(a,0))
print(np.amax(a,l))

9
[8 7 9]
[7 8 9]

Out[10]:

NumPy BRZBRANFITERE , BFAREPLENTE/MPEKRED , &X,
BRtREENRES,

d




V ndarray S E

2.9 it R

> FITEREY

In[11]:

a = np.array([[3,1,5],[8,4,3],[2,4,9]])
print(np.percentile(a , 50)) # B ]
print(np.percentile(a , 50 , axis=0))
print(np.percentile(a , 50 , axis=1))

Out[11]:

B HEIEEERNRITEE.

d




V ndarrayXdSRHIEE > FITEREL

2.9 it R

a = np.array([[3, I, 3], [8, 4, 3], [2, 4, 9]])
print(np.median(a))

print(np.median(a, axis=0))
print(np.median(a, axis=1))

In[12]:

Out[12]: [3. 4.
5.4

(2GR =508 i 2)

d



V ndarrayXSHIEE

2.9 it R

> FITEREY

In[13]:

a = np.array([[3, I, 3], [8, 4, 3], [2, 4, 9]])
print(np.mean(a))

print(np.mean(a, axis=0))
print(np.mean(a, axis=1))

Out[13]:

5.0
[4.333333335.  5.66666661]
[5.5.5.]

AR




V ndarrayXdSRHIEE > FITEREL

2.9 it R

a = np.array([1, 2, 3, 4])

b = np.average(a)

wts = np.array([4, 3, 2, 1])

c = np.average(a,weights = wts)
b, c

In[14]:

Out[14]: (2.3, 2.0)

NN

d



V ndarrayXSHIEE

> FEITEREL

2.9 it R

In[15]:

print(np.std([1, 2, 3, 4])) # InEE
print(np.varx([1, 2, 3,4])) # B E

Out[15]:

1.118033988749895
1.25




V ndarrayXSiizE > FITEREL

2.9 it R

a = np.array([1, 2, 3, np.nan])
np.isnan(a)

In[16]:

Out[16]: array([False, False, False, True])

In[17]: np.any(np.isnan(a))

Out[17]: True

In[18]: np.all(np.isnan(a))

Out[18]: True




V ndarrayXSiizE > FITEREL

2.9 it R

In[19]: np.sum(a)

Out[19]: nan

In[20]: | np.nansum(a)

Out[20]: 6.0

ﬁ



V ndarrayXdSRHIEE > FITEREL

2.9 it R

a = np.array([[30, 40, 70], [80, 20, 10], [50, 90, 60]])
print(np.argmax(a))

print(np.argmax(a, axis=0))

print(np.argmax(a, axis=1))

In[21]:

1
Out[21]: [120]

[201]

d



V ndarrayXdSRHIEE > FITEREL

2.9 it R

a = np.array([[30, 40, 0], [0, 20, 10], [50, 0, 60]])
print(np.nonzero(a))

b = np.where(a > 40)

print(b)

print(a[b])

¢ = np.extract(np.mod(a, 3) == 0, a)

print(c)

In[22]:

(array([0, 0, 1, 1, 2, 2]), array([0, 1, 1, 2, 0, 2]))

Out[22]: (array([2, 2]), array([0, 2]))
[50 60]
[30 0 0 0 60]

d



V ndarrayXSRHIzE

> FITEREY

2.9 it R

In[23]:

nums = [1,2,3,6,5,6,6]
a = np.bincount(nums) #iR[0]0 ~ FABELRIMAYRE]
np.argmax(a) #IEQEBERINREL

Out[23]:




V ndarrayXSHIEE

2.10 Bl BES5HEH)

> 5. HESSH

In[1]:

import numpy as np

a = np.arange(6).reshape(2, 3)
b=a

b.resize(3, 2)

print(a.shape)

print(a)

Out[1]:

d

(3, 2)
[[01]
[2 3]
[45]]




V ndarray3SHEE » 5. RESEH

2.10 Bl BES5HEH)

In[2]: a = np.arange(6).reshape(2, 3)
b = a.view()

b.resize(3, 2)

print(a.shape)

print(a)

b[0][0] =1

print(a)

(2, 3)

[[01 2]
[3 4 5]]
[[712]
[3 4 5]]

d

Out[2]:



V ndarray3SHEE » 5. RESEH

2.10 Bl BES5HEH)

In[3]: a = np.arange(6).reshape(2, 3)
b = a.copy()

b.resize(3, 2)

print(a.shape)

print(a)

b[0][0] =1

print(a)

(2, 3)

[[01 2]
[3 4 5]]
[[01 2]
[3 4 5]]

d

Out[3]:



V ndarrayXyRHIzE > XEFERE S MR

2.11 FBEREES &AL

In[4]: import numpy.matlib #FS1Xa)iH

a = np.matlib.empty((2, 2))

b = np.matlib.zeros((2, 2))

¢ = np.matlib.ones((2, 2))

d = np.matlib.eye(n=3, M=3, k=0, dtype=float)
e = np.matlib.identity(5, dtype=float)

f = np.matlib.rand((2, 2))

NumPy 88 &— MatrixEnumpy.matlib , HEREFEOREIEETA
EiRx[Ondarray¥JsR,

d




V ndarrayXyRHIzE > XEFERE S MR

2.11 FBEREES &AL

a = np.array([[1, 2], [3, 4]])
In[5]: b = np.asmatrix(a)
c = np.asarray(b)

BT &L TE R




V ndarrayXyRHIzE > XEFERE S MR

2.11 FBEREES &AL

a = np.array([[1, 2], [3, 4]])

b = np.array([[11, 12], [13, 14]])

print(np.dot(a, b)) # #ZH=FH

print(np.vdot(a, b)) # RE=fH

print(np.inner(np.array([1, 2, 3]), np.array([0, 1, 0]))) # A=AFA
print(np.inner(a, b)) # ZHHEHAIATR

In[6]:

[[37 40]
185 92]]
130
Out[6]: 2
[[35 41]
[81 95]]

d



V ndarrayXyRHIzE > XEFERE S MR

2.11 FEREE S SR

a = [[1, 0], [0, 1]]

b = [[4, 1], [2, 2]]
print(np.matmul(a, b))
, a = [[1, 0], [0, 1]]
ml7l p=11,2)
print(np.matmul(a, b))
print(np.matmul(b, a))

[[4 1]

Outl7):  [22]] i : RS- SHHEE- SRR, TR
[511] IRFHZS IR,
[ 7 10]

d
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2.11 FEREE S SR

In[8]:

Out[8]:

[-2.]] Q

> FEREESSIHER

a= np'array([[]-! 1, 1]! [05 2! 5]5 [25 9, '1]])
ainv = np.linalg.inv(a)

print(ainv)

b = np.array([[6], [-4], [21]])

x = np.linalg.solve(a, b)

print(x)

[[1.28571429 -0.28571429 -0.14285714]
[-0.47619048 0.14285714 0.23809524]
[ 0.19047619 0.14285714 -0.0952381 ]]
[[5.]
[3.]

x+y+z=6
2y +5z=-4
2x + 5y -z =21



V ndarrayXSiizE

2.12 IO

a = np.array([1, 2, 3, 4, 5])

np.save('outfile', a) # EXIA[HEApythonFIHLER— 1 npyiF
In[9]: b = np.load('outfile.npy')

b

Out[9]: array([1, 2, 3, 4, 5])

d



2.12 SCEIO

a = np.array([1, 2, 3, 4, 5])
np.savetxt('out.txt', a)
In[10]: b = np.loadtxt('out.txt')

b

Out[10]: array([l., 2., 3., 4., 5.])

d






